## **Program-Specific Tuition Rates**

## Concordia University Chicago - Fall 2022 thru Summer 2023

Program	Degree Level	Total Credit Hours	Tution Per Credit Hour	Total	Technology F Per Credit Hour	ee Total	One Time Graduation Fee	Total Tuition and Fees	
		(Online Asso	ciate and Bachelo	or Degrees)	1				
Organizational Management	Associate	64	\$505	\$32,320	\$17	\$1,088	\$150	\$33,558	
Health Care Management	Bachelor	128	\$505	\$64,640	\$17	\$2,176	\$150	\$66,966	
Human Resource Management	Bachelor	128	\$505	\$64,640	\$17	\$2,176	\$150	\$66,966	
Kinesiology	Bachelor	128	\$415	\$53,120	\$17	\$2,176	\$150	\$55,446	
Organizational Management	Bachelor	128	\$505	\$64,640	\$17	\$2,176	\$150	\$66,966	
Sports and Recreation Management	Bachelor	128	\$505	\$64,640	\$17	\$2,176	\$150	\$66,966	
Program	Degree Level	Total Credit Hours	Tution Per Credit Hour	Total	Technology F Per Credit Hour	ee Total	One Time Graduation Fee	Total Tuition an	
(Face-to-face Bachelor Degrees)									
Various programs (part-time)	Bachelor	128	\$1,018	\$130,304	\$17	\$2,176	\$150	\$132,630	
Various programs (full-time)	Bachelor	128	\$943	\$120,704	\$17	\$2,176	\$150	\$123,030	
Program	Degree Level	Total Credit Hours	Tution Per Credit Hour	Total	Technology F Per Credit Hour	ee Total	One Time Graduation Fee	Total Tuition ar	
	<u>(</u>	(Graduate Cert	ificates and Gradı	uate Degre	es)				
Accounting	Master	60	\$710	\$42,600	\$17	\$1,020	\$150	\$43,770	
Accounting	Certificate	24	\$710	\$17,040	\$17	\$408	\$150	\$17,598	
Applied Exercise Science (Fitness & Health Promotion Concentration)	Master	30	\$475	\$14,250	\$17	\$510	\$150	\$14,910	
Applied Exercise Science (Fitness & Health Promotion Concentration)	Certificate	12	\$475	\$5,700	\$17	\$204	\$150	\$6,054	
Applied Exercise Science (Human Movement Science Concentration)	Master	30	\$475	\$14,250	\$17	\$510	\$150	\$14,910	
Applied Exercise Science (Human	Certificate	12	\$475	\$5,700	\$17	\$204	\$150	\$6,054	

Drogram	Degree Level	Total Credit	Tution		Technology	Fee	One Time	Total Tuition and
Program	Degree Level	Hours	Per Credit Hour	Total	Per Credit Hour	Total	Graduation Fee	Fees
Applied Exercise Science (Sports Nutrition Centration)	Master	30	\$475	\$14,250	\$17	\$510	\$150	\$14,910
Applied Exercise Science (Sports Nutrition Centration)	Certificate	15	\$475	\$7,125	\$17	\$255	\$150	\$7,530
Applied Exercise Science (Sports Performance & Training Concentration)	Master	30	\$475	\$14,250	\$17	\$510	\$150	\$14,910
Applied Exercise Science (Sports Performance & Training Concentration)	Certificate	12	\$475	\$5,700	\$17	\$204	\$150	\$6,054
Applied Exercise Science (Strength & Conditioning Concentration)	Master	30	\$475	\$14,250	\$17	\$510	\$150	\$14,910
Applied Exercise Science (Strength & Conditioning Concentration)	Certificate	12	\$475	\$5,700	\$17	\$204	\$150	\$6,054
Blended & Online Teaching for Pre-K-12 Educators	Master	30	\$460	\$13,800	\$17	\$510	\$150	\$14,460
Chief School Business Official	Master	42	\$710	\$29,820	\$17	\$714	\$150	\$30,684
Chief School Business Official	Certificate	30	\$710	\$21,300	\$17	\$510	\$150	\$21,960
Christian Education	Master	33	\$635	\$20,955	\$17	\$561	\$150	\$21,666
Church Music	Master	33	\$635	\$20,955	\$17	\$561	\$150	\$21,666
Church/Not-for-profit	Certificate	12	\$710	\$8,520	\$17	\$204	\$150	\$8,874
Clinical Mental Health Counseling	Master	60	\$535	\$32,100	\$17	\$1,020	\$150	\$33,270
Computer Science	Master	36	\$710	\$25,560	\$17	\$612	\$150	\$26,322
Couple & Family Relational	Certificate	15	\$625	\$9,375	\$17	\$255	\$150	\$9,780
Criminal Justice: Policing Policy	Certificate	12	\$625	\$7,500	\$17	\$204	\$150	\$7,854
Curriculum & Instruction	Master	30	\$505	\$15,150	\$17	\$510	\$150	\$15,810
Curriculum & Instruction w/ ESL & Bilingual Endorsement	Master	33	\$505	\$16,665	\$17	\$561	\$150	\$17,376
Curriculum & Instruction w/ ESL Endorsement	Master	30	\$505	\$15,150	\$17	\$510	\$150	\$15,810
Cybersecurity Governance	Master	12	\$710	\$8,520	\$17	\$204	\$150	\$8,874
Cybersecurity Governance	Certificate	12	\$710	\$8,520	\$17	\$204	\$150	\$8,874
Deaconess	Certificate	15	\$635	\$9,525	\$17	\$255	\$150	\$9,930
Differentiated Instruction	Master	30	\$505	\$15,150	\$17	\$510	\$150	\$15,810
Digital Marketing	Master	48	\$710	\$34,080	\$17	\$816	\$150	\$35,046
Digital Marketing	Certificate	12	\$710	\$8,520	\$17	\$204	\$150	\$8,874
Early Childhood Education	Master	30	\$505	\$15,150	\$17	\$510	\$150	\$15,810

Early Childhood Special Education  Early Childhood Special Education  Education Studies  Education Technology: Curriculum & Instruction  Education Technology: Leadership  Educational Administration  Educational Technology	Master Certificate Master  Master  Master  Master  Master  Master  Master  Master	30 12 30 30 30 30	Per Credit Hour \$505 \$505 \$510 \$505	Total \$15,150 \$6,060 \$15,300 \$15,150	\$17 \$17 \$17 \$17 \$17	\$510 \$204 \$510 \$510	\$150 \$150 \$150	\$15,810 \$6,414 \$15,960
Early Childhood Special Education  Education Studies  Education Technology: Curriculum & Instruction  Education Technology: Leadership  Educational Administration	Master Master Master Master Master Master Master Master	30 30 30	\$505 \$510 \$505	\$6,060 \$15,300	\$17 \$17	\$204 \$510	\$150 \$150	\$6,414
Education Studies  Education Technology: Curriculum & Instruction  Education Technology: Leadership  Educational Administration	Master  Master  Master  Master  Master  Master	30 30 30	\$510 \$505	\$15,300	\$17	\$510	\$150	
Education Technology: Curriculum & Instruction  Education Technology: Leadership  Educational Administration	Master  Master  Master  Master	30 30	\$505		·			\$15,960
Instruction  Education Technology: Leadership  Educational Administration	Master Master Master	30		\$15,150	\$17	\$510	Ć150	
Educational Administration	Master Master		ĆEOE				\$150	\$15,810
	Master	30	\$505	\$15,150	\$17	\$510	\$150	\$15,810
Educational Technology			\$505	\$15,150	\$17	\$510	\$150	\$15,810
Eddedtional Technology		30	\$505	\$15,150	\$17	\$510	\$150	\$15,810
Elementary Education	Master	48	\$510	\$24,480	\$17	\$816	\$150	\$25,446
English as a Second Language	Master	33	\$505	\$16,665	\$17	\$561	\$150	\$17,376
Entrepreneurship	Master	51	\$710	\$36,210	\$17	\$867	\$150	\$37,227
Entrepreneurship	Certificate	12	\$710	\$8,520	\$17	\$204	\$150	\$8,874
ESL	Certificate	18	\$505	\$9,090	\$17	\$306	\$150	\$9,546
ESL and Bilingual	Certificate	21	\$505	\$10,605	\$17	\$357	\$150	\$11,112
Finance	Master	48	\$710	\$34,080	\$17	\$816	\$150	\$35,046
Finance	Certificate	12	\$710	\$8,520	\$17	\$204	\$150	\$8,874
Gerontology	Master	33	\$515	\$16,995	\$17	\$561	\$150	\$17,706
Gerontology	Certificate	15	\$515	\$7,725	\$17	\$255	\$150	\$8,130
Grant Writing, Mngmnt, & Evaluation	Master	30	\$460	\$13,800	\$17	\$510	\$150	\$14,460
Healthcare	Master	48	\$710	\$34,080	\$17	\$816	\$150	\$35,046
Healthcare Mngmnt	Master	48	\$710	\$34,080	\$17	\$816	\$150	\$35,046
Healthcare Mngmnt	Certificate	12	\$710	\$8,520	\$17	\$204	\$150	\$8,874
Human Resource Mngmt Mas	ster/DOCToRATE?	33	\$460	\$15,180	\$17	\$561	\$150	\$15,891
Human Resource Mngmnt	Certificate	15	\$635	\$9,525	\$17	\$255	\$150	\$9,930
Human Service Administration	Master	33	\$460	\$15,180	\$17	\$561	\$150	\$15,891
Human Services	Master	33	\$460	\$15,180	\$17	\$561	\$150	\$15,891
IL Principal Preparation	Master	33	\$535	\$17,655	\$17	\$561	\$150	\$18,366
IL Teacher Leader Endorsement	Master	30	\$535	\$16,050	\$17	\$510	\$150	\$16,710
Instructional Design & Technology	Master	30	\$505	\$15,150	\$17	\$510	\$150	\$15,810
Leadership & Change Mngmnt	Master	33	\$460	\$15,180	\$17	\$561	\$150	\$15,891
Leadership & Change Mngmnt	Certificate	12	\$460	\$5,520	\$17	\$204	\$150	\$5,874

Program	Dagraa Laval	Total Credit	Tution		Technology Fee		One Time	Total Tuition and
Program	Degree Level	Hours	Per Credit Hour	Total	Per Credit Hour	Total	Graduation Fee	Fees
Leadership Studies (Healthcare Specialization)	Master	33	\$460	\$15,180	\$17	\$561	\$150	\$15,891
Leadership Studies (Higher Education Specialization)	Master	33	\$460	\$15,180	\$17	\$561	\$150	\$15,891
Leadership Studies (Knowledge Management Specialization)	Master	33	\$460	\$15,180	\$17	\$561	\$150	\$15,891
Leadership Studies (Organizational Specialization)	Master	33	\$460	\$15,180	\$17	\$561	\$150	\$15,891
Master of Business Administration	Master	36	\$710	\$25,560	\$17	\$612	\$150	\$26,322
Music	Master	33	\$635	\$20,955	\$17	\$561	\$150	\$21,666
Not-for-Profit Mngmnt	Master	48	\$710	\$34,080	\$17	\$816	\$150	\$35,046
OH Principal Licensure - Graduate License	Certificate	30	\$425	\$12,750	\$17	\$510	\$150	\$13,410
OH Reading Endorsement - Graduate Endorsement	Certificate	15	\$425	\$6,375	\$17	\$255	\$150	\$6,780
OH Superintendent Licensure - Graduate License	Certificate	15	\$525	\$7,875	\$17	\$255	\$150	\$8,280
OH Teacher Leadership Post-Master's Endorsement - Graduate Endorsement	Certificate	12	\$425	\$5,100	\$17	\$204	\$150	\$5,454

Drogram	Degree Level	Total Credit	Tution		Technology Fee		One Time	Total Tuition and
Program	Degree Level	Hours	Per Credit Hour	Total	Per Credit Hour	Total	Graduation Fee	Fees
OR Preliminary Administrator License - Graduate License	Certificate	21	\$525	\$11,025	\$17	\$357	\$150	\$11,532
Parish Music	Certificate	36	\$635	\$22,860	\$17	\$612	\$150	\$23,622
Piano Pedagogy	Certificate	15	\$635	\$9,525	\$17	\$255	\$150	\$9,930
Political Science	Certificate	12	\$635	\$7,620	\$17	\$204	\$150	\$7,974
Political Science: Human Security Certificate	Certificate	12	\$625	\$7,500	\$17	\$204	\$150	\$7,854
Political Science: Peace & Conflict Studies Certificate	Certificate	12	\$625	\$7,500	\$17	\$204	\$150	\$7,854
Principal Preparation - Graduate Endorsement	Certificate	33	\$535	\$17,655	\$17	\$561	\$150	\$18,366
Professional Administrator License - Graduate License COSA OREG	Certificate	21	\$525	\$11,025	\$17	\$357	\$150	\$11,532
Professional Educator's License: School Service Personnal K-12 - Graduate Endorsement	Certificate	48	\$525	\$25,200	\$17	\$816	\$150	\$26,166
Psychology	Master	33	\$635	\$20,955	\$17	\$561	\$150	\$21,666
Reading Education	Master	30	\$505	\$15,150	\$17	\$510	\$150	\$15,810
Religion	Master	33	\$460	\$15,180	\$17	\$561	\$150	\$15,891
School Counseling	Master	48	\$505	\$24,240	\$17	\$816	\$150	\$25,206
Special Education Leadership	Master	30	\$505	\$15,150	\$17	\$510	\$150	\$15,810
Special Education, LBS1	Master	30	\$505	\$15,150	\$17	\$510	\$150	\$15,810
Special Education, LBS1	Certificate	18	\$505	\$9,090	\$17	\$306	\$150	\$9,546
Sports & Recreation	Master	33	\$460	\$15,180	\$17	\$561	\$150	\$15,891
Sports Leadership	Master	33	\$460	\$15,180	\$17	\$561	\$150	\$15,891
Sports Mngmnt	Master	33	\$460	\$15,180	\$17	\$561	\$150	\$15,891
Sports Mngmnt	Certificate	12	\$460	\$5,520	\$17	\$204	\$150	\$5,874
Superintendent KTA	Certificate	30	\$595	\$17,850	\$17	\$510	\$150	\$18,510
Teacher Leader KTA	Certificate	30	\$535	\$16,050	\$17	\$510	\$150	\$16,710
Teaching & Learning	Master	30	\$505	\$15,150	\$17	\$510	\$150	\$15,810
Technology Specialist KTA	Certificate	24	\$505	\$12,120	\$17	\$408	\$150	\$12,678
TESOL	Master	30	\$460	\$13,800	\$17	\$510	\$150	\$14,460
TESOL	Certificate	39	\$460	\$17,940	\$17	\$663	\$150	\$18,753

Program	Degree Level	Total Credit Tution		Technology	Fee	One Time	Total Tuition and	
		Hours	Per Credit Hour	Total	Per Credit Hour	Total	Graduation Fee	Fees
Urban Schooling: Policy, Practice, &	Master	30	\$505	\$15,150	\$17	\$510	\$150	\$15,810
Curriculum								